COMMERCE

Name & Signature of the Invigilator PAPER-III OMR Answer Sheet No. :
AUG1TN7

RollNo.:

(in figures as in Hall Ticket)

Roll Number inwords: ...
Time : 22 Hours] _ No. of Printed Pages : 36 |Maximum Marks: 150
Instructions for the Candidates
1. Write your Roli Number in the space provided on the top of this page.
2. This paper consists of Seventy Fifty (75) multiple choice type of questions. All questions are compuisory.
3. At the commencement of examination, the question booklet will be given to you. In the first 5 minutes, you are requested to open

the booklet and compulsorily examine it as below :

{11 To have access 1o the Question Booklet, tear off the paper seal on the edge of this cover page. Do not accept a booklet
without sticker seal and do not accept an open booklet.

(¢iy  Tally the number of pages and number of questions in the booklet with the information printed on the cover page. Faulty
booklets due to pages/questions missing or duplicate or not in serial order or any other discrepancy should be got replaced
immediately by a correct beoklet from the invigilator within the period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be given.

(1if}  After this verification is over. the Test Booklet Number should be entered on the OMR Answer Sheer and the OMR Answer
Sheet Number should be entered on this Test Booklet. A

4. Each item has four alternative responses marked (A), (B). (C) and {D}. You have to darken the oval as indicated below on the correct
response against each item.

Example : @ . @ @ where (B) is the correct response.

Your responses to the items are to be indicated on the OMR Answer Sheet under Paper — Ul only. Il you mark your response at any

place other than in the oval in the OMR Answer Sheet, it will not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet. )

If you write your Name, Roll Number, Phone Number or put any mark on any part of the OMR Answer Sheet, except for the space

atlotted For the relevant entries, which may disclose your identity, or use abusive language or employ any other unfair means, such

as change of response by seratching or using white fluid, you will render yourself liable to disqualification.

9. You have to return the original OMR Answer Sheet to the invigilator at the end of the examination compulsorily and must not carry
it with you outside the Examination Hall. You are however, allowed to carry originat question booklet and duplicate copy of OMR
Answer Sheet on conclusion of examination.

10.  Use only Blue/Black Ball point pen.

11 1se of any calculator or log 1able etc.. s prohibited.

12, There shall be no negative marking.

'

beladss

13, In case of any discrepancy in the English and Gujarati versions of questions. English version will be 1aken as final.
ydaedlal w2 g L . :
1. oy w2l wa saildell auiHl aml e el el

2. v g Gl duiad dald (ou) nel AR §, sy L e B,
3 el s s ueA R v vad, dem i (1) Bz e il ieayRast widl 147 62 Breunyd 2 e uflaw
524 | ' | - |
() MeryRstll U1 s2e M2 L saR el AR U wila e s g8l Sy ARlsidla s (Rl & vjeedl et yRest
T sl '
(i 596 YR Bl PEAUPR N YRSty Maril, Yabl A A o2 (01 iRl el vy ed BeLst b YU wol el vl
S, SR BSULUL 14, gl Ml A S 525 1 it ASUR AoUMI Y e uyReal st A i R Wy s
3oy Rrt st 2] it ol (elews iltell g2 o ollew T ue st Sl Al w32 Gligara wia (W) FRe- ol s
aadl. wedl o, k2 yBetsi el w19 AL 8 il anwust srvard sl Adl. .
(i) it asiaell e i ussl, Wa-yBesiel -4 OMR Qs Wots UR @wedl 203 OMR ¥ Yo sl A2 WaAYReist MR cmal.
4, Ul s Wi M2 ALY Al REEN (A). (B). (C) 219 (D) ML bllae B, s WL wausi-l Higd (oval) A (I3 suud Geleot Yoy

izl ot L 2y 51 s2eud L

CATEL @ © @ rrimrurans. _

5. AL WY et H8wtl =1L st o HUNANE S OMR Fae Wt sil W~ vy fouaiu] o w3 5241 A AL OMR Fe
oLl AU w0 (oval) (ALM A= RN el 2Bt 52401 il A alolg edist s wiad 4dl

6. e plle YAt e yds aid. )

7. 514 514 (Rough Work) X YFelsilL wi[M yos U2 534, o . . .

8 RN OMR %t W s Friet woul (e et SSUR 2R, 2 e, T wiond, §lt 4012 2ua 31 66 Rigd Foud] adudl i
w6 81, 23 5220 MUAL BiOK SeAL ML 53], it w516 R Wil Guion 531, 9 b dilid 5 AAd raust ofll vl
L ude wdll Gyl s¥lowatl di A yda 2 sy M up sl L _

9, 1AL A YR1 S 1L eiLs, HiLle0e OMR et Wots % A (iYlasd gepud AL 24 2R S5 w1 AR A WfanisRaer ad
oy 1ol ula yal 2 e GAs R HLAWrtel W YRl sl A OMR eet Wats-ll glede sl L wd e wS U .

(0. e s/l oe Wi U arydl.

11, besydar wid w- SAsEMS Yl Gudla sl Hud 8.

12, viiel oo Hi2 At e Sl na el o N

13, HayReatril S8 Hannl diggate ¥ 516 RaueMadie e di diie 4 il sl




Commerce—II1



COMMERCE qiRtory
PAPER - III _ CRER § 1 §

Note :This paper contains Seventy five (75) multiple-choice/assertion/reasoning/
matching questions. Each question carrying TWO (2) marks. Attempt All
the questions. :

Alf vl Weueil qAaldR (9u) oglselly uadl, WY-uig A RASH oleddldl Nl
B, dutt Warlidl Bt avidl 8. Uds U 6 () e 8.

1. Shareholders, Employees, 1 Q3 elesy, sdaudlail, sues RA2

Customers are known as ................. ~
........... gL MUy, 8,

of the company.
(A) Wldsl

(A) Owners

- (B) Balell

(B) Borrowers

(C) Creditors (C) AueIRl

(D) Stakeholders (D) [8d wsl

2. In the recently revised tax 2. AFdIN §51R wddl 534U

structure, GST stands for the

.................

{A) General Structure of Tax
(B) Goods and Service; Tax
(C) Genuine Standard Tax

(D) Goods Plus Service Tax
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The Consumer Protection Act came

into force in the year :
(A) 1984
(B) 1985
(C) 1986
(D) 1988

The process of reducing the Equity
Participation in the Public Sector
Company by the Government is

known as :

(A) Globalisation
(B) Privatisation
(C) Ligeralisation
(D) Modernisation

The  Re-named Planning
Commission “NITI Ayog”, NITI

stands for ....c..ccovvviiviiiiins .

(A) National

Transparent India

Institute of

(B) National Institute of Training

in India

(C) National Institute of

Transforming India

(D) None of the ahove
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AL S AGL SIYEL ......... ST
HAHL HLAL.

(A) 1984

(B) 1985
(C) 1986
(D) 1988

M2 &AMl S5dlAlaaAl u50
al{let]l geisar 2+l wiEua-

(A) alBasaugl
(B) wit9(l5291
() Gelilsw

(D) Adl-lsza

Hidly A A ¥ Aq

A R qudia’ 8. QR

......... al2l iy 69,

(A) eurlau wrellla MEa A

B) @ldly difax dae
(€) oy 3uid s "

(D) Gsd Ugl siSye el



6. A company issued shares of Rs. 10, 6. s $u-{lad 3. 10 -l AR 1R WS,

on which Rs. 6 is called up and a el U 3. 6 HAUAA el A N5 AR

hareholder h t paid th ~ s
shareholder has not paid the call Bles Haudd v 3. 3 3sdd -l

of Rs. 3. The amount credited to . ..
. UsRAL ARHL AYEL vid kel ¥HL

share capital in respect of such

Yl :
share will be :

(A) 3. 10
{A) Rs. 10

B) 3.7
B) Rs. 7 (B) 2
D) Rs. 3 > 3.3

7.  After the debentures are redeemed, 7. [36l23 yd syl ous RisloL 88 b{_|_d.l_r{_]_

the balance in the sinking fund _ N
ofll @S gl 2w ¥ ¢

account is transferred to :

(A) Debenture Account (A) [selur widl

(B) General Reserve (B) UMY BivlHd

(C) Profit and Loss Appropriation
(C) 151 52l slaasil widl

Account

. D) Y&l AR
(D) Capital Reserve
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10.

Advance Payment of Tax is in the

nature of :

(A) Revenue Expenses
(B) Prepaid Income
(C) Liability

(D) Prepaid Expenses

eeerereaaeeearaeae e e is an example of

direct cost.

(A) Secondary packaging
(B) Primary packaging
(C) Carriage outward
(D) Stationery expenses

When amalgamation is in the
nature of merger, the accounting

method to be followed is :

- (A) Consolidated method

{B) Purchase method
(C) Equity method

(D) Pooling of interests method
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9.

10.

w06 Ysad AL WS ©
(A) Hyell wal
(B) 200Gl ysdd vuas

(C) FAoLelXl

(D) UGl ysda vl

........... 2 Alan vl Gewsra 9.

(A) 2w WA

(B) yaeid U3l

(C) asHd wal

(D) Al wal

o3 ool oq W Rdl-lsa (3o52)

Uslg wld cal, Rae wglaa

AgAUAUHL 21D B
(A) AsAls3 ygla
(B) uile ugla
(C) Ss5dlé ugla

(D) ALl [Radl uwgla



11.

12.

The economist who defined
economics as “The science which
studies human behaviour as a
relationship between ends and
which have

scarce means

alternative uses.”

(A) Lionel Robbins

(B) E.A.G. Robinson

(C) Alfred Marshall

(D) J.M. Keynes

If demand is inelastic and price

increases, then :

(A) total revenue will fall

(B) total revenue will be unchanged

" (C) total revenue will increase

(D) total revenue will change

proportionately
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13.

14.

Which one is a related statement ?
(A} Organisation and interest
(B) Land and rent

(C) Labour and profits

(D) Capital and wages

Assertion (A) : A monopoly firm’s
revenue curve is downward sloping

from left to right.

Reason (R) : The monopoly firm
does not enjoy the freedom both, to
fix the price to be charge and the
quantity to be sold according to its

whims and fancies.

(A) Both (A) and (R) are true
(B) Both (A) and (R) are false
(C) (A) is false, but (R) is true

(D) (A) is true, but (R) is false
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15. Product differentiation is :

16.

(A) a form of price competition
(B) a form of non-price competition
(C) a form of price discrimination
(D) none of the above

Which one is the correct order of

statistical data ?

(A) Collection, Analysis, Presen-
tation and Interpretation of

data

(B) Interpretation, Analysis,
Presentation and Collection of

data

Presentation

(C) Collection,
Analysis and Interpretation of

data

(D) Analysis, Collection, Inter-
pretation and Presentation of

data
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15.

16.

Yelg -ramwm el :
(A) Buadl ¢lRs16

(B) [H3ctl @,[?&L&S el
(C) electaysd Bud -lld

D) GuAHEL As ust [asey «dl
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wuA wmedued 539
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17.

18.

19.

Questionnaire technique of data
collection can be used when the

respondents are :

(A) Literates

(B) llliterates

(C) Literates and illiterates

(D) None of the above

If the sample size increases, the

sampling error :

(A) Increases

(B) Decreases

(C) Remains constant

(D) May increase or decrease or

remain constant

We can estimate the value of Y for

a given value of X by :

{A) the regression equation of

Y on X

(B) the regression equation
XonY

(C) the regression
Y and X

equation

(D) the regression
XorY

equation
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17.

18.

19.
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qledl sd satl weAe@ wgladi
GUuUdl AL UL 9 wULR Ht[éc_ﬂ
BELUALRLAL :

(A) [REd ¢y

(B) wRd ey

(©) QU »a RRd €id
D) Gudsauidl sisSus Al

A Ay 52 Al dl et o
UHIRL

(A) 48 &
(B) He £
(C) deldd e 8

(D) s$el4 48 Al SLl™A 42 »Ydl
919 yaldd e

X Al 20d] Bud Ryl w8 Y
T vl Bad bl wsla

(A) Y -l X 43l [(Rudaely adlsw
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(B) X Al Y 4l Ruddeis 14s
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20. The E-Commerce domain that

21.

involves business activity initiated
by the consumer and targeted -to

business is known as :

" (A) Business to Consumer (B2C)

(B) Consumer to Business (C2B)
(C) Consumer to Consumer (C2C)
(D) Business to Business (B2B)

Management means forecasting,

. 21,

planning, organising, directing,

coordinating and controlling. Who

said this ?

‘(A) Peter F. Drucker

(B) Henri Fayol

(C) Parkins

(D) F.W. Taylor
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90. S—sixd Qaz dstdl gfeal, Alss
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(A) olland g svryHR (B20)
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Al Med yalguit, 2wdix,
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-

22, refer to those needs  22. ........... Q;\l ¥ 5 % ¥3ula

satisfaction of which lead to self AdlMairl G W2 iR wA
confidence and preétige. WL[H Hie: él_ll 9,

(A) Self-éctualization needs (A) ey A=A, o3[l

(B) Safety needs (B dandl 3R
(O Esteem needs | | - (0) A% w3Rudl |

(D) Physiololgica'll needs (D) wRlRs w3fudl

23. Plan made in the light of 23. ¢¥lo+fl Wios-lirl Aselni oiieary]

competitors plah. is known as 219 diogld I,‘s@. £
(A) Policy o @) AR
(B) Procedure | (B) [Q[tl
(C) Strategy (C)f{gezw
' | (D) Undercover plan N D) AH[Ave i+l
24. Grapevine is associated with : - 24. 3 i Asifad &
(A) Formal Communication (A) vl s Q{QJ;L?.
| (B‘) Informal Communication | (B) 2 hvalRs iz
| \(C:)" H;)rizontal- Communication | © 8l A3
(D) Verti(.;al Communication N D) Gell AR
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25. Which one is the most important

26.

27.

principle of Business Ethics ?
(A) Principle of unity of direction

(B) Principle of proportional

jﬁdgement
(C) Principle of scalar chain
(D) Principle of Span of Control

In a broader sense, marketing

communication includes AR
(A) Product

(B) Price

(C) Place

(D) All of the above

What is relevant to place variable

of marketing mix ?

(A) Branding

(B) Price Pepetration

(C) Sales Persqnnel Motivation

(D) None of the above
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25.

26.

217.

12 aedanidl sui Rgld dasty

ARt A1dl iotunl 97

(A) siraRll Asdidl Beid

(B) uH&H Y-l Ragid
() aciiel Aisy (R$163A7) - Rgid

(D) g9 Rdlzl Rigia

.........

[iewa wefui s ABAM

AL MM U 6.

(A) Uslyt
(B) [5ua
() @ (s2)

D) Gsd ud

o102 —(ainii e 2 a3 (AL Ul
SR ysg dlou osu?

(A) sl

B Bud Dl glrt s Hl Gsl uda

© damsd wd Asuda

sl P12 Wil

M) Guarill siSum
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28.

29.

30.

Branding decisions are based on :
(A) Market.Research

(B) Assessment of customer’s need
(C) Cost of prociuct

(D) Both (A) and (B)

Which is used for short-term sales

achievement ?

(A) Personal Selling
(B) Advertising

(C) Sales Promotion
(D) Public Relations

The method for achieving maximum

market responsé from limited

marketing resources by reorga-

nising differences in the’ response
characteristics of various parts of

the market is known as :

(A) Market Targeting

(B) Market Positioning

- (C) Market Segmentation
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(D) Market Strategy

28. o+S {94 Al AAqi U4 As w2

29.

30.

14

wallRd @

(A) 612 A8

B) Assl walRuld-dl »iewn

(C) Ueludl usd?

(D) (A) »A (B) 4R

gslouoAl e —dgdisiql wlitd w2
QA AR i GuyloL iy B?
(A) 4l3dold Al

(B) 2N&d

(©) daL Brig-

(D) A2 Heiyl

Rt o1 WA G121 Hen o2

(B2l M scudl gl % oo+
ARy Rous) o2 uaddl dstadia
Y ARA sl wgl a3

ALY,
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(B) oMl Veiaq @ua 524
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31

32.

33.

Capital Budgeting Decisions are :
(A) Reversible Decisions
(B) Strategic Investment Decisions

(C). Short-term - Investment

Deéisions
(D) Tactical Investment Decisions

Generally if the risk involved in a

ﬁrm is higher :
(A) Cost of capital will be lower-

(B) Cost of capital will be higher

(C) Cost of capital will be neutral -

(D) None _of the above

Long-term sources of finance also
required for ... - of

working capital.
(A} Economical
(B) Costl.y

(C) Beneficial

(D) None of the above
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34. According to which of the following,. 34. (Al U4 suL A gzl Adl-u

- 35.

the firm’s market value is not
affected by capital structure ?

(A) M.M. Hypothesis
(B} Net Income Approach

- {C) The Traditional View

(D) None of the above

Match the following :
(1) Convertible (@) Holders have
Debentures the right to
recover their
money from
the sale of
Assets
(2)  Secured (Z) Deducted from
Debentures the profits of
the company
(3) . Interest on the (iif) Permanent
Debentures Liability on the
company
(4) Irredeemable (fv): The holders of
Debentures such debentures
are given the option
to exchange them
for share
Select the proper code :
Codes :
L 2 @ @
Ay & @ G G
(B) D) (iv) (@) @)
(C) Gv) @ G G)
D) G G G G

Commerce—II1T
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1)

2)

3)

“)

HGLULAL oo —HEUH] $RS§IR Ul

A7

(A) ¥4, gl
(B) Alwnu{l wlasel w014
() weulfasod sy
(D) Guz Usl sidusl «<l
Al Sl sl

WRaddle @ Md s34

Slopeya] (MesdnL
axemiel didil
1M Ud Hu-

dadl s

Ha B

UAd @) Suefl A

Slotry sdld Yy
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1% sl FaleiEi)
8§
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Yd A s UsLR L SlA-ye]d

AKY Al A4l wRaldd
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36.

37.

Career progress largely depends

on :

(A} Performance
(B) Experience
(C) Qualifications

(D) All of the above
Match the following :

List I

| (State Regulations

(a)

(b}

(c)

(d)

of Wages)

Minimum Wages ().
Act, 1948

The Payment of (i)
Wages Act, 1936

The Payment of (i)
Bonus Act, 1965

Wages Boards (iv)

Commerce-I11

List 1I

(Features)

It has to study
various factors
before making
any recommen-
dations

The minimum

bonus to be paid
has been raised
from 4% to 8.33%

It did not define
minimum wages
nor specified any
norms for its
determination

Its objective is to
provide for regu-
lar payment of
wages without
any authorised

reduction
- Codes
@ & © @@
A) Gvy @ @) )
(B) i) @Gvy @) @)
(Cy @) @) Gvy @
O @ @ @) G

37.

{a}

b

(c)

()

s AE Qs M2 sl

etz 9.
(A) stqo(l<l
(B) 4™«
(C). dndrl
(D) G54 ud
AR A
el 1

(AYA dd-il

Rauy

agd Moyl
BI1, 1948

wor Il 2sasil
UL, 1936

ol Asasll

YR, 1965
Wl olls
518 |
(@) ()
(A Gvy @)
(B) (ir) ()
© G (D)
Dy & @)

(&)

(i)

i)

(rv)

........

yiel 11
LA RLS AL

sdual
AR Ysdl
Ael—AEL
3oLt
oyl %330 9

dgdy oy
ysag(l-l e
SEIRIE

4% Yl 8.33%

sl idd
9

dyaM gL
guiidd -dl &
del sie 4izell
[raifka &l

a-ll Gt
S5 Haldlr

g2LSi Bl

lay (A

MHudd, wyR

Ysadirl 9.

() (@

Gy @)

@ @

) ®

@) Q)
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38.

39.

Condition essential for sound

industrial relation is/are :

(A) Existence of strong will
organised and democratic

employees unions.

(B) Existence of sound .and

organised employees union.

(C) Spirit of collective bargaining

and willingness to resort to

voluntary negotiation.
(D) All of the above

“Morale is a readiness to co-operate
warmly in the tasks and purposes
of a given group or organisation” is

the statement given by :
(A) Alldrich

(B) Vitels

(C) Ackoof

(D) Peter F. Drucker
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40. Wdrkers compensation programmes
have a serious defect. They are
these laws attempt to compensate
employees for accidents and illness

that have :
(A) Occurred
(B) Claiments
(C) Will occur
(D) Proofs

41. Which bank merged with ICICI

Bank in the year 2010 ?
{A) Punjab National Bank
(B) Bank of Rajas_than
(C) .J&K Bank |

- (D) None of the above

42. SIDBI Act was passed in the

YOAr oo .
(A) 1989
(B) 1990
(C)y 1991

(D) 1992

Commerce—I1I
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SIMELR 40dR sidsHiMl dledly vl
0. SIUEIBL A5l 21 Hisa(lHi

sHatdld and: »Hwd 8 ¢
(A) 44

(B) &ldelR

(C) ull

D) wdrdlil

o 2010 ¥l ICICT oisui {lR-unidl
59 olsq [Afadlse ay ed?

(A) Yool AsiAd oS

(B) 615 & Uy

C) ¥. 2A-S &, ols

D) Gu-uHidl sy [asew -l

SIDBI stucl 9 W AR

..........

sl wUeHl wdl.
(A) 1989

(B) 1990
(C).1991

(D) 1992
[P.T.O.]



43. Match the items of List I with 43. W€l 1 -l Roadl wigl 11 -l QoL wd

List II : CyRvdl
List I List 11 el 1 agl 11
Institution Year of ) ]
AL @AY ay
Establishment ' -
(1) IFCI (1) 1948
(I IFCI (1) 1948
(I1) IDBI (2) 1955
() IDBI 2 1955 | -
(III) UTI 3) 1962
(11 UTI (3) 1962
(IV) ICICI (4) 1964
(IV) ICICI 4) 1964
5\15 :
Codes :

O (D JI) av)
I dn dn av) '

A 3 @ @ @ @ e @ @ @

(B) 4) (1) (2 (3) (B) (4) (1) (2) (3)
< 2 & O @ e @ ¥ O @
DO @ & @ ™D @ @ @
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44. Match the items of List I with 44, el Tl Roidl el 11 Al [@oidi 0

List 1T : Avdl
List I List IT wel 1 el
. Funetions Nlustration RRBI -1t 31@[[ @E.lé,'{lzt
of RBI - @ sla cflr @ weld B
() Central Banking (1) Lending of gl g
Functiﬁn ' Money - N -
: an A€l @  6ls Uidtdl
(I)  Prohibitory (2) Baﬁk cannot _ ist?-'[[ : : ?‘I.L'l«l'%‘ﬁ Y3
Function pay interest cz,&og ] |

on its deposits

A% Al

(I0) General Banking (3) Deposit . - - -
@D A G @ wualHl
Function Insurance : '

- sl
(IV) Developmental (4) Regulation of '

a Rsasla sl @ (asell getumse

Function Foreign

| Exéhange EECL]
 Codes : | ' PR

I an an av) O an (111) (IV)
A @ @ '(13 3) @ @w @ O
@ 1 ¥ @ @ ® O @ @ @
© @ @ & @ © @ @ & @
(D) @ O @ @ o @ D @ @

Commerce—I11 : 21 \ [P.T.O.]



45. Match the items of List I with  45. gl I+l [@Qoidl atel IT L (ol

List 1I : ' Al
List T List I el 1 | el o
@ oy ol O die sl

(I} - Commercial Bank (1)_ Post Office

an  >lzilis ols @) ALS
(I} Industrial Bank (2} NABARD .

(NABARD)

(I} Agricultural Bank (3). | State Finance
am Wdlagl 45 @) e el
Corporation
(<o
(IV}) Savings Bank (4) Canara Bank _ '
V) oAd ols NONEE EINCE

Codes :
5?[5 :

@ an Jm av
M D Jdm av

Ay B3 @ @ (@
' @ Aa & @ QO @

By M @ @ 3 B O @ @ G

€ @ & @ @O _ © @ @ @ (1)

™ @ _(1) & @ | ® @ O & @
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46. The Apex body for the Export

47,

48.

Promotion of the country is :

(A) Indian Institute of Foreign
Trade

(B) Indian Institute of Export
Trade

(C) Indian Institute of Export

Promotion

(D) Federation of Indian Export

Organisation

Special Drawing Rights (SDRé) are
issued by the :

(A) World Bank
(B) R.B.L.
(C) L.D.A.
(D) ILMF.

Foreign Exchange and Foreign
Currencies in India are governed

by :
(A} RB.L
(B) Banking Regulation Act

(C) FEMA (Act)

(D) SEBI Act

Commerce—II1
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46.

47.

48.

2l Fustadl gl w02 G ot (ke
&fl.él). :

(A) *1dly [aga quiz e

B) ourdld Fis dwR ARl

(C) dly Ms qla A

D) HRAY M5 dadat ¥y

[aldre Guis alAsir
BLMALHL a6,

........

(A) [z s

(B) 212025,
(C) »ud.8l.3.
(D) U AN 5.

ol 2l R »A [zl
YRl [Rusn glaL sl
21 .

.........

(A) 2R.ol.2ug.

(B) &4lo Iyau-l s
©) 3w (s1uel)

@) Ael (s
[P.T.O.]



49.

A

represents :

current account surplus

" (A) Net Foreign' investments

50.

4y

an

(I

(IV)

(B) Net Foreign drain
(C) Disinvestment Abroad
(D) None of the above

Match the following and find the

appropriate choice from options :
Theory Author

Overlaping Product (1) Michael Porter

Ranges
Product Cycle (2) Paul Krugman
Theory
Internal and (3} Raymond
External theories Vernon
of Scale |
Competitive (4) Linder
advantage of
Nation
Codes :

(O dn dIn aw
A @O 6 @ @
By @ @) @ @
e @ @
M @ @ @@ @
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49.

50.

(D

aIn

(III)

(Iv)

A1g, vt a8l RIGIDTS]

gald 3.

(A) Alvv [azsll s@
(B) vy [Aeell ysld i
(C) yeudi [AfRda

(D) Guyscuidl sl -l

{lqHi-l Sl arlal A 244l
[Rsevinizl oy [@Qsey aial :

Rigia dus
sicRAMdL Wissem  HlUsH uiéR

vy
Ss2 AAMse @ WGA G
g1y} |
Srexrd Hrs (@ IUS qri
V522 E
flyly »lis
]
PEEIEIE] @ (482
WS 1S
A3
516 :
(I I dm av)
A o @ @ @
B @ @& @
G 1 @ @3 @
Dy @ W @



51. Commercial paper is issued by firms

S2.

53.

to Talse ...ooooviiiieennins .
(A) Long-term funds
(B) Medium-term funds
(C) Short-term funds
(D)} None of the above

The most common sources of Euro

issues include :

(A) American Depository Receipts
(B) Global Depository Receipts
(C) Both (A) and (B)

(D) None of the above

veereenreenennnns 18 Capital Market

Regulator in India.

(A) Bombay Stock Exchange

(B) National Stqc.lli Exchange
(C) Ministry of Corpor.ate Affairé

(D) Securities and Exchange Board

of India

Commerce-I111

25

o1.

52.

53.

Yo sinslaa Az

ol ULS 9.

(A) dioll dui-L eisia

(B) "M 2uulAlL sisin

(C) 28t dUAldL oisla

(D) Gua-tmidl 25 ug «dl

YU 652, (Euro issue) AHIA ALl

ANAY 53 O

(A) A sluifledl Al
B) sdioi Qe Nae
(C) (A) i (B) 6in

(D) Guz-unidl als wal Al

aLd-dl 38l o+

MabBid s 8.

(A) 6l els AUA-Y

(B) nard ;za‘ts_ 2 &3y

©) Bl »ils sivile »3d

@) Rusy s s Rl oS »ile

Seslut
[P.T.0.]



54. Working capital is also known as 54, sidalld 38l wel WAy § ¢
(©) Revolving Capital @) 5l ",L\Sll

{zz} Circulating Capital G ddl ysl

" ]
(iit) Equity Capita iy Ssldl 1l
(iv) Debt Capital .
(iv) tal 48l
Select the correct answer from the

A2A-iell w4 Gl uieoll 53
following :

ek q .
(A) (iii) and Gv) (A) (i) ¥ (iv)

(B) (i) and (i) (B) () A (i)
(C) Only (iii) (C) $sd (i)
(D} () -and (i) D) (&) ¥ i)

55. Bonus shares are usually issued out 55, AU TUd oA 927 Gl WSA™L

of : §d B e

(A) Accumulated Profits (A) AsBia sial]

(B) Reserved created for specific (B) iy GRu W2 Goul s34
purpose M-HAHIL

(C) Resefved created out of (C) Rasdinl Yo qeyisHuil Gou
revaluation of assets o 5%d BeUManiY] .

(D) None of the above D GuARE As g ALl
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56. What 1s customer value ?

5T

58.

(A) Ratio between the customer’s
perceived benefits and the
resources used to obtain these

benefits -

(B) Excess of satisfaction over

expectation

(C) Post purchase dissonance

(D)

None of the ahove

Which element of the promotion
mix do wholesalers primarily rely
on to achieve their promotional

objectives ?
(A) Advertising
(B) Trade Promotion

(C) Personal Selling

(D) Direct Marketing

What is the basis for segmenting

vitamin market ?

(A) Age

(B) Place of distribution
(C) Formulation

(D) All of the above

Commerce-III
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56.

57.

58.

Alwst He Ged y?

(A) AS gl AAAEAA AL 2 A
ALeL HOdel Hi2 GuyRsi daide

AlUAL Q2L iR

(B) N&uvll 5cdl Mitd 4dd Acdide
Gy uUHW

(C) WIEl ueslAl »ami

D) Gsd Usl siSua Al

A DA weeiy dwli dHel
QAL A8isL Ut sl HIE A
U4l sui dael Gaad [Rsey ude 53
697

(A) &3

(B) A2l MiclsHl

(C) AlZadld Micuis-ll

(D) MME %R vagld

[Qzpliddl d20e de ooz [@Qoux
saql W DA A sul vualR Yoy
ey ?

(A) Bn2
(B) [Qdel @y
(@) «dl Aol iy sl

D) Gsd ud
[P.T.0.]



59.

60.

61.

Needs for goods and services are

more homogeneous in :
(A) Industrial Market
(B) Consumer Market
(C) Domestic Market

(D_) None of the above

Customers being able to buy
product and services on the Internet

is a result of :

(A) e-business

(B) e-marketing

(C) e-commerce

(D) e-purchasing
Training is a :

(A) Current process
(B) Temporary process
(C) Regular process

(D) Continuous process

Commerce—III
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89.

60.

61.

- (D)

Al Usl sy ooz dl Yoty w14
Aarel #3RuUctHi agy A53udl Al

W 697

(A) diellis Qe w2

(B) Assasl Usiald om?

(€) @RS AR

D) G5t W8l SSw Al

AL U sut Q@sew @t Rei 21

Aol wledi yui 8?

e-business

A)

(B)

e-marketing

(C) e-commerce

e-purchasing
dlely & :
(A) g ulul

(B) »q1fl uly

(©) Fubia wBa

(D) Add nZut



62. Match the following :

List 1

(Concepts)

(@) Wages and Salary (i)

Administration

(&) SBuccession Planning (i)

{¢) Fringe Benefit

(d) High Morale

Codes :
@ ()
(A) (v) (D)

B) @ @
(Cy @iy @)
®) Guvy @

Commerce-111

(tii)

(i)

(©)

(@)
(iv)
(iv)
(i)

62.

List II

(Objectives)
(a)

-Engage the

leadership in
supporting the
development of
high potential

leaders

To reduce

employee

grievance

()

To retain the
present

employees - {e)

To improve

human rela-

tions @)

(d)
(i)
(i)
(&)
(2ii)
29

AL Assl oirual

ylel 1
oqtdl)

1l wAd WuR o
qdlae

GrRlasidld @

BUUL%

AgMIBLs wet G

Gy -l (i)
S :

@ &) ()
Ay Gv) Gy G
(B) @D 0 v
©) G @ )
D) @ O @

el o
@GR

3L Uldd
glddl
Adcdrl
Jela
CHERENL]
BEL]
sl (32
A
AUsAG iy
2

s
s3lule
ga1sdl

suld
POETEIENE
el

Hida Aoiul
yatral

@)
)
(i)
@)
(i)

[P.T.O.]



63.

64.

63.

Strike undertaken without the

consent of the unions is called :
(A) General Strike

(B) Sympathetic Strike

(C) Unofficial Strike

(D) Bumper Stﬁke
Performance appraisal is :

(A) Morale boosting

(B) Training and developme_nt
activity
(C) Job analysis

(D) All of the above

How can accidents be reduced in

industry ?
(A) By proper training

(B) By installation of safety

equipments
(C) By safety programme

(D) All of the above

Commerce—III

30

63.

64.

65.

1R dYAl AHQ A2 wsakl »udg

(A) AHIU 8SAn
(B) Aslde[as ssan
(C) AHUZUR 8SAN

(D) 4 ¢Selll

sl yeuis 8

(A) ¥+t AYIRAIR

(B) dleld 1 Qs ugl
©) sid [=dna

(D) GU-L o8y %

folami sl 3l L aLaLQ wslu?
(A) didy dietyell

(B) ¥4l m-a 9ﬁ¢qcuaﬂ

(C) Y8 sdsHiedl

M) Gu-l oY1y



66. In India

67.

predominant share in the debt

market.

(A) Government Sgcurities
(B) Corporate Deposits

(C) Corporate Equity

(D) Global Depository Receipts
Bill of lading is issued by :
(A) Indian Commercial Banks
(B) Foreign Banks

(C) Shipping Company

(D) Exporters

Commerce—I11
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66. oltd™l ........ Al Sal oAl

67.

BAAH [BRUL 9.

(A) AR5 AHI( 2l

(B)

(&)

(D)

e

(A)

(B)

(9]

(D)

.......

syl vy

el Ssdldl

adiore, Sluioflel e

oqlcfla il ois
[a%,a[_l o5
oL Su-ll

st

Bl 2is ASoL ogly WS

(P.T.O.]



68. The Devaluation of Currency of

69.

70.

Country is down when :

(I) It has adverse balance of

payment.

(II) It has favourable balance of

payment.
Codes :
(A) Both (I) and (I} are correct
(B) Both (I) and (II) are incorrect
(C) Only (I) ig correct
(D) Only (D) is correct

India is not associated with :

(A) SAARC

(B) NAFTA

(C) BRICS

(D) None of the above

The IMF derives its finance from:
(A) General Resource Account
{B) Special Disbursément Account
(C) ESAF Trust

(D) All of the above

Commerce—II1
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69.

70.

SSURL BAAL ARG MHAHEUA 541

Yy 7

(O arll ysasll-l andal ulsm sy
(D drll ysasl-dl wigal x50 siy
£iS

A) @D 2»{3_1 (D) irl AL

(B) (D) 1 (II) 6l w2l

(C) $5d (D) wy

D) $5d (ID WY

el AslAd Al

(A) SAARC

(B) NAFTA

(C) BRICS

(D) Gua-uniadl 215 wal <ALl
IMF idi-il Al 4aq &
(A) WHLA A vug

(B) v [Adrel wd

(C) ESAF gre

(D) BGUALsd oLaLy



71. Statement 1 : Tax planning aims

72.

at reducing tax liability to the

minimum.

Statement 2 : Tax management
aims at complying the provisions of

law.

Which one of the following is

true

(A) Statement 1 is true and

Statement 2 is false

(B) Statement 2 is true and
Statement 1 is false

(C) Both the statements 1 and 2

are true

" (D) Both the statements 1 and 2

are false

Which section of Income Tax Act
deals with penalties due to failure
to keep and maintain information
and documents in respect of

international transactions ?

(A) 221(1)

(B) 221(2)

(C) 271CA
(D) 271AA
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71.

72.

(a1 & 53 2ol dg 52

FUnell afny Yol veisdll 9.

[Qain 2 : 52 adlaedl &g swell

FoiSui wd sl 8.

A s Rsen L 87

(A) Qa1 0y & 21 Qa2 vig
£

(B) [t 2 A1 & A [Qad 1 Wi

B

(C) [QAA 1 21 [Qu 2 ol AL

-

£9

D) QA 1 21 Qa2 6 viel

-

3

sl il AlAAmiell 59§ san
2idFU st @ddl wulRkdl
2 BRALARL AL ¥eL gl 691
sed €5 (Aniedl) Aoiel B7

(A) 221(1)
(B) 221(2)
(C) 271CA

(D) 271AA
[P.T.O.]



73. Match the items of List I with

L_ist II .
List 1

()  Section-10A (D

(II} Section-80IE (2)

(III} Section-10AA ()

(IV) Section-10B (4
Codes :
I (In
A @ o
B) @) (3
© @ @
M Q) (2

Commerce-III

List I

Tax incentives in
case of a newly
established 100%
Export-Oriented
Undertakings (EQU)

Tax incentives in
case of newly
established units in
Special Economic

Zone (SEZ)

Tax incentives in
case of newly
established industrial
undertakings in Free

Trad e Zone (FTZ)

Tax incentives in
case of profits and
gains of certain

undertakings in

North Eastern States
(I (V)

3 @

1 @

@

@ 3

.34

73.

I

aIn

(II)

(IV)

qel T Al [@ardi wel 11 - [@ordl
AL Hwal

el 1

544-10A

54¥H-80IE

5¢H-10AA

544-10B

51S -

(A)
(B)
©
)

(D
(4)
(2)
(3)
(1)

W

(2)

(3)

(4)

(I)
(1)
3)
4)
(2)

ylel 1t

100% [Aslaaall
A4l ™YYIHH
AsHlA 53 Usdl

vt s aotui
{(Special Economic
Zone SEZ) <€l
WY U 53
Ul

Yo YR ERLHL
{Free Trade Zone
FTZ) «ldl Y84
»lenfds A sHiA
53 RUsdl

G —ydla eyl
(North Eastern
States) +ll Y5
WAL AsL-
Aol sl 2
Ul

(I V)
3 (@)
(1) @
2 @
4) 3



74.

{D

(ID

(I1I)

{IV}

75.

Match the items of List I with
List IT :

List I List I
Tax Evasion (1)  Availing deduc-
tions under

section 10A of
Income Tax Act

Tax Avoidance {22 Understate-
ment of
Income

Tax Administration (3) Misinterpreting

the provisions
of the Income

Tax Act

Tax Planning (4} Making suit-
able arrange-
ments of TDS

Codes :

O an an Jav

A Q @ @ @

® @@ & @ @

©© 3 @ O @

O @ @1 @ G

Section SOE of Income Tax Act deals
with :

charitable

(A) Donations to
institutions

(B) Donations for Scientific
Research

Medical Insurance Premia

(C)

(D) Repayment of loan taken for

higher education
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74.

@

(I

(I

v

75.

el 1l Radl wigl 1 A Radl wd
H{wldl
el 1 el 11

s Yidl 1) idsd L
sieldl s4m
10A _dd
$Idirdl @l
DT

53 204l @ st il
caladl

53 qdlae @ wldsd 1L
51Y4%l :L,'
AadLduly
uig e
539

53 iyt (4) (TDS) yuHiell
43 &Wid M1
%33 cdaral
aisadl

5S '

(h (IO JdJiImn av

A 1) @2 @ @

B) @ @ @ (1)

0 B @ QO @

o @4 GO @ @ '

2 5A stustdl se SOE 1A-idl

S ay 48 9
(A) avuadl Fewl el

(B) daufHs e Hi2 €l

©) dollol-Aglse e MBun

@) G (s w2 dlddl diq
SRR

[P.T.O.]



ROUGH WORK
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